Lecture 5 - Sep. 22
Lexical Analysis

RE: Exercises & Operator Precedence
DFA: Basics & Exercise
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RE Specification: Exercise

Write a regular expression for the following language

//15{ W|w has alternating 0’s and 1's}

() X (a= (0 C10)) 4 (1 (01)f)
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RE: Operator Precedence

L2
(E_gvs.@

[(0®

| €

|¢éz

lolo &L
[Olo &l

01*% + 1 vs. O(1* + 1)

0+ 1* vs. (0 + 1)*

- Are RE, and RE, equivalent?
- A string in L(RE,) but not in L(RE))?
- A string in L(RE,) but not in L(RE)?



DFA: Exercise

Draw the transition diagram of a DFA which accepts/recognizes
the following language:

{w | w# €aw has equal # of alternating 0’s and 1’s }



fb\) \ W Da/lfams ol 4 4 Qé&ﬁlﬁg

/Qx‘ﬁo (

O Willigm <
1 \C)( ", "’ge.l. fosh

\



